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Answer all guestions

Time: 60 minutes

Total marks: 60

Use these answers to help you to learn from this exam and to identify how you
might improve towards your next mock in May. The answers are taken from a
range of pupils and each one earned full marks for the question. What this is then
is @ 100% exam paper! It can be done! Note also the comments added to help
you understand why these answers are so good. Read it all carefully to learn how
you might do better next time.



British Isles. Answer the guestions which follow.
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(b) Study Fig. 5 which shows the different air masses that affect the E
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(i) Complete Fig. 5 by inserting the name of the correct air mass. [1]

(ii) Describe and explain the temperature and moisture
characteristics of a Tropical continental air mass.
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. Qu_estion says ‘describe and explain’_i.e. what and why?
* This answer deals with both these aspects, so picks up full marks.
= Remember to read the question carefully!!
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(ii) Choose two of the elements of the weather below and explain why these conditions were
experienced in the British Isles on Wednesday 16 December 2009.

= Low temperatures
= Calm conditions
= Dry conditions
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= Very good SCE x2 used here.
= This means that each sentence adds detail of understanding to the answer.
= This develops the answer, giving a full and detailed explanation.
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(d) Study figure 7 which shows the world’s temperatures over the past 1000 years. Answer the
question which follows.
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(1) Describe the temperature changes as shown in fig 7.
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* This answer uses the resource very well.

= It uses a verb and adverb to describe the different sections of the P S
graph. 5

= It also quotes figures

= These are the things you should do when presented with a resource
like this.



(ii) Explain one natural cause of climate change.
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= Both sentences add detail here.
= The first clearly identifies the cause.
= The second explains how the cause works. Two marks well earned!
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(iii) With reference to a place you have studied, outline the impacts of climate change on the

environment, society and economy.
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A very good case study question as it contains lots of facts. You simply will not
score full marks if you don’t include these.

Also, it uses the words of the question (environment, society and economy) to
provide a clear structure to the answer.

= Finally, the points are developed to show understanding. Full marks!



Unit 1 - Theme C: The Restless Earth

2 (a) Study Fig. 8 which shows the structure of the Earth. Answer the questions which follow.
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(1) Write the labels for A and B in the Iim:?w.
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(ii) Explain why plates move. /
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= Very good detail of understanding communicated here.
= Geographical terms are also used to good effect.
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(b) Study Fig. 9 which shows the edge of the Antrim Plateau, a lava plateau made of basalt which
stretches to the north coast of Northern Ireland. Answer the questions which follow.

(1) State the rock type to which basws/ -

'Jgné{)i,.g{. (1 mark)

(ii) Explain the formation of a lava plateau (you can use an example to help).
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(4 marks)

= As above, very good detail of understanding communicated here.
= Geographical terms are also used to good effect.
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(¢) Study Table 1 which shows some differences between earthquakes in different
places. Answer the question which follows.

Table 1

Year Area Country | MEDC or | Magnitude | Number

LEDC Richter of people

Scale killed

1964 Anchorage | USA MEDC 8.6 130
1985 Mexico City | Mexico LEDC 7.8 4,600
1995 Kobe Japan MEDC 7.2 5,500
2004 Sumatra Indonesia | LEDC 9.0 250,000

€ CCEHA

Using Table 1, state fully two reasons why more people are killed in some
earthquakes than others.
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(5 marks)
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Again, very good use of resource material (Table 1).

The factors discussed are taken from the Table, which is vital in a question
like this.

Places are referred to and figures are quoted - don’t forget to do this!




(d) Study Fig. 10 which shows the global distribution of earthquakes (greater than magnitude 5) in
2003. Each dot is the epicentre of an earthquake. Answer the questions which follow.

World Seismicity 1977-1992
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(1) State the meaning of the term epicentre.

E{che’\’:ﬁe D &Q ot AeAdy  obove Ye S

on Eons £ 0SF L7
QL*.;S <D M,C\g LS ,_d/\w“%/ ' S | el /&’
[:"Cﬂ'\ A ?C\C—:\- al€ KN X (2 marks)

(iiy  Describe the global distribution of earthquakes shown in Fig. 10,
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= Very good use of resource material again here. Look at the detail drawn from
the map. This person has used it very effectively.

= Earthquake distribution is linked to the plate boundaries. Many of you did this.

= But look also at the detail taken from the key about where the smaller and
larger earthquakes are found. Did you notice this level of detail?



() (i) Explain the cause of an earthquake you have studied in an LEV
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= The question asks for the cause, and this answer gives the cause. Sounds
simple, but some of you did not do this!

= A clear understanding of how earthquakes occur is communicated here.

= Notice also the case study facts. Must be included!
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(6 marks)

Three impacts asked for, three impacts given! Make sure you answer the
question asked!!

For each point, at least one fact is given.

Also, points are expanded appropriately to earn the marks. Full marks here
again!



